

### 369 EAGLE DR, JUPITER, FL, 33477

https://ritterproperties.com

Step into unparalleled luxury at this brand-new waterfront estate under construction in the prestigious community of Admirals Cove. With 115 feet of waterfrontage, this stunning home will offer 7BD, 7.2 BA designed for both comfort and elegance. Upon completion, a gated motor court and grand entryway will welcome you into light-filled interiors with soaring ceilings. [...]

- 7 hads
- 7 haths
- Residentia
- Single Family Residence
- Active
- 9668 sq ft

## **Basics**



**Type:** Residential **Status:** Active

**Bedrooms: 7** beds **Bathrooms: 7** baths

**Half baths: 2** half baths **Total rooms:** 11

**Area: 9668** sq ft **Lot size, sq ft: 22786** sq ft

**SubdivisionName:** Admirals Cove **ListOfficeName:** Waterfront Properties & Club C

GarageSpaces: 4 View: Canal

**ListAOR:** Miami Association of REALTORS® **MLS ID:** A11748207

# **Rooms**



Room type	Dimensions	Area	Length	Width
Other Room	20 x 19.8	396	20	19.8
Kitchen	10 x 20.4	204	10	20.4
Den	21.7 x 13.1	284.27	21.7	13.1
LivingRoom	22.2 x 21.2	470.64	22.2	21.2
FamilyRoom	28.7 x 17.4	499.379999	28.7	17.4
PrimaryBedroom	24.4 x 20	488	24.4	20
DiningRoom	18 x 16	288	18	16
SecondBedroom	18 x 21.1	379.8	18	21.1
FourthBedroom	16.3 x 12.9	210.27	16.3	12.9
ThirdBedroom	14.3 x 17.4	248.82	14.3	17.4
FifthBedroom	13.2 x 12	158.399999	13.2	12

# **Building Details**



Cooling features: Central Air, Zoned

**ArchitecturalStyle:** Detached, Two Story

Building Name: Admirals Cove

Roof: Other

**Parking:** Driveway

Year built: 2025

**NewConstructionYN:** Yes

Exterior material: CBS Construction

**Heating:** Central, Zoned

#### **Amenities & Features**

**Features:** Built-in Features, Closet Cabinetry, Custom Mirrors, Den/Library/Office, Elevator, Family Room, Fireplace, First Floor Entry, Loft, Media Room, Pantry, Utility Room/Laundry, Volume Ceilings, Walk-In Closet(s)

**CommunityFeatures:** Boating, Clubhouse, Pool, Tennis Court(s), Exercise Room, Gated Community, Golf Course Community, Sauna, Security Patrol

ExteriorFeatures: Built-In Grill, Lighting, Open Balcony,

Other

**Waterfront available:** Yes

AttachedGarageYN: Yes

PoolPrivateYN: No

**Amenities:** Dishwasher, Disposal, Dryer, Electric Range, Gas Range, Microwave, Refrigerator, Washer

**WindowFeatures:** Complete Impact Glass, Impact Glass

PoolFeatures: In Ground

GarageYN: Yes
CoolingYN: Yes

FireplaceYN: Yes

